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Introduction
The following email discussion was discussed in last meeting:
[103-e-NR-Rel-16-V2X-07]: Email discussion/approval regarding clarification on the sidelink slot index
· Issue PP-7: Interpretation of sidelink slot for TRIV and resource reservation period
· Issue M2-6: Interpretation of sidelink slot for sensing and resource selection procedure

And the following agreements were achieved. 
Agreements:
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Agreements:
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While there is no conclusion on how to interpret the reservation period in SCI. in this paper, we will discuss this issue.

Discussion
For the discussion of reservation period in SCI, the following options are listed in last meeting:

Q2. What option can you accept for the interpretation of sidelink slot for resource reservation period?
Option 0: No additional agreement
Option 1: If a UE transmits a SCI format 1-A in slot n in a resource pool, and if “Resource reservation period” in the SCI format 1-A indicates P’ (following 8.1.7 of 38.214),
· P’ is counted in  (i.e. The number of slots in the resource pool between slot n and slot n+P’ is always the same as P’ (including slot n+P’ itself)).
Option 2: If a UE transmits a SCI format 1-A in slot n in a resource pool, and if “Resource reservation period” in the SCI format 1-A indicates P’ (following 8.1.7 of 38.214), P’ is counted in  (i.e. The number of slots in the resource pool between slot n and slot n+P’ can be less than P’).
· Option 2-1: No further change
· Option 2-2: Add “UE expects  belong to the set of slots assigned to the resource pool.”
· Option 2-3: Add “If slot  is not in the resource pool, the next slot in the resource pool should be used instead.”
Option 3: If a UE transmits a SCI format 1-A in slot n in a resource pool, “Resource reservation period” P in the SCI format 1-A indicates the period in terms of ms.
· If the physical slot after P ms is not in the resource pool, the next slot in the resource pool should be used instead.
Option 4: If a UE transmits a SCI format 1-A in slot n in a resource pool, and if “Resource reservation period” in the SCI format 1-A indicates P’ (following 8.1.7 of 38.214), P’ is counted in he slots that can be used for SL transmission (i.e. the gap between the slots indicated in SCI within two periods is P).
·  Add “UE expects  belong to the set of slots assigned to the resource pool.”

In our view, the following aspects need to be considered for this discussion.
· Reservation period is only used for sensing operation. 
According to the agreement achieved in last meeting,  sensing is only operated over   , i.e., the slots within the TX RP of the sensing UE. 
· The interpretation of reservation period in SCI should be applicable to all cases, such as in coverage (IC), out of coverage(OOC), and partial coverage.
For the partial coverage case, TX/RX resource pool configuration for IC UE and OOC UE are from gNB and pre-configuration respectively. To facilitate the SL communication between IC UE and OOC UE, the configured TX pool for IC UE from gNB should be within the RX pool of pre-configuration from pre-configuration, and, the configured RX pool for IC UE from gNB should cover the TX pool of pre-configuration from pre-configuration.
· The periodicity is in unit of ms. If it is converted into slot, the time duration which is expressed by the number of slots in SCI should be aligned with the physical time duration (ms) as much as possible. 
· The S-SSB slots and reserved slots do not belong to either    or  . They are not counted by reservation period in SCI. The periodicity of S-SSB is 160ms, if the periodicity P is not multiple of 160ms, it cannot perfectly match between P (converted into number of slots) and 160ms. If not, there should be jitter for each periodicity.

Considering the above aspects, we think option 2-3 is more preferred. 
· The periodicity P is converted to number of logical slot P’, and P’ is counted in . The set   indicates all slots that may belong to a RP, this set is common understood by IC UE and OOC UE, so that it can be applied to IC, OOC, and partial coverage cases. Furthermore, it has less restriction to the TX/RX RP configuration from gNB and pre-configuration. 
· “If slot  is not in the resource pool, the next slot in the resource pool should be used instead.” This is to make sure that the reserved slots indicated by the reservation period field in SCI is within the TX RP. 
For option 2-2, that will put much limitation for the resource pool configuration by considering the mismatch between periodicity P and the S-SSB/reserved slots per 160ms.

Proposal 1: for the interpretation of reservation period in SCI, option 2-3 is preferred.
Option 2: If a UE transmits a SCI format 1-A in slot n in a resource pool, and if “Resource reservation period” in the SCI format 1-A indicates P’ (following 8.1.7 of 38.214), P’ is counted in  (i.e. The number of slots in the resource pool between slot n and slot n+P’ can be less than P’).
· Option 2-3: Add “If slot  is not in the resource pool, the next slot in the resource pool should be used instead.”

Conclusion
The remaining open issue of physical procedure is discussed and the following proposal is given.
Proposal 1: for the interpretation of reservation period in SCI, option 2-3 is preferred.
Option 2: If a UE transmits a SCI format 1-A in slot n in a resource pool, and if “Resource reservation period” in the SCI format 1-A indicates P’ (following 8.1.7 of 38.214), P’ is counted in  (i.e. The number of slots in the resource pool between slot n and slot n+P’ can be less than P’).
· Option 2-3: Add “If slot  is not in the resource pool, the next slot in the resource pool should be used instead.”
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If a UE transmits a SCI format 1 - A in slot n in a resource pool, and if “Time resource assignment” in the  SCI format 1 - A indicates ti, the UE understanding is as follows:   -   ti is counted in  ൫ 𝑡 ′ 0 𝑆𝐿 , 𝑡 ′ 1 𝑆𝐿 , 𝑡 ′ 2 𝑆𝐿 , … ൯   (i.e.  The number of slots in the resource pool between slot n  and slot n+ti is always the same as ti (including slot n+ti itself ).  
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When a UE performs PSSCH resource selection procedure in sidelink resource allocation mode 2, the  UE monitors SCIs for sensing operation over  ൫ 𝑡 ′ 0 𝑆𝐿 , 𝑡 ′ 1 𝑆𝐿 , 𝑡 ′ 2 𝑆𝐿 , … ൯   in the sensing window.  


